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NS

2 2
WkN) 16(>< 10°kN m?) As(m®) 1(mh) WkNY) 1,(>< 10°kN ") As(m?) 1)
1 21,420 3.94 18,890 34.81
18.8 11,950 28.2 14,571
2 20,250 3.73 15,670 28.83
28.2 14,779 28.2 15,986
3 63,170 11.63 74,990 138.08
183.7 23,888 206.3 27,958
4 83,300 15.33 88,070 162.10
155.8 25,975 212.2 38,723
5 111,840 20.59 109,640 201.82
207.0 45,617 237.3 56,230
6 141,010 25.96 130,160 239.58
181.1 47,273 208.6 60,144
7 227,110 41.81 226,760 417.47
354.5 117,612 458.7 112,978
8 300,450 60.12 301,020 554.17
2,812.6 562,754 2,697.8 496,620
9 135,000 27.01 127,000 233.79
E 2.57><10"  KkN/n? E 2.57><10"  kN/m’
1,103,550 ¢ S7><10° kN/m 1,002,200 ¢ i ]
G 1.07=<10" KN/n' G 1.07><10" kN/m
) 0.20 v 0.20
h 5% h 5%
49.0n(NS  )<57.4m(EW ) 47.om(NS  )>=<57.4m(BW )
) ®=mH
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EW

2 2

WkN) 16(>< 10°kN m?) As(m®) 1t WkNY) 1,(>< 10°kN ) As(m?) 1)

1 21,420 2.21 1 18,890 19.52
14.0 6,948 21.1 8,529

2 20,250 2.09 2 15,670 16.18
21.1 8,650 28.2 9,057

3 63,170 6.52 3 74,990 77.47
9.0 12,728 103.2 14,172

4 83,300 8.60 4 88,070 90.91
124.1 15,511 150.8 21,844

5 111,840 20.59 5 109,640 201.82
172.8 34,327 204.1 41,352

6 141,010 25.96 6 130,160 239.58
239.2 47,077 226.6 61,084

7 227,110 62.36 7 226,760 622.62
348.4 140,127 431.3 135,128

8 300,450 82.49 8 301,020 826.50
2,812.6 772,237 2,697.8 740,717

9 135,000 37.07 9 127,000 348.72

1,103,550 Ec 2.57><10" kN/m® 1,002,200 E; 2.57>=<10" kN/nf
G 1.07=<10" KkN/n' G 1.07<10" KN/n’
v 0.20 v 0.20
h 5% h 5%
49.0m(NS  )><57.4m(BW ) 47.0m(NS  )><57.4m(EW )
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Ss-1H

Ss-1H Ss-1H
s
oP. v
((Jﬁ;' (mvlss) vt v &0 6/60 G Vs v h ) m (m/ss) vt v 60 6/60 G vs Vp h( )
(kN/m3) (kN/m2) kN/m2) | (m/s) (m/s) (kN/m3) (kN/m2) (kN/m2) | (m/s) (m/s)
T30 I
45 380 s | o3 | o200 | o8 | 20000 | 348 1540 3 19 ™ e | o | mon | s | 2w | & 550 3
=206 N 450 165 | 0464 | 341000 266000 | 398 1530
) 70 | o459 | 383000 5000 | 413 1500
500 1| oss5 | 43000 0000 | 442 1540
130,
-800_
530 4 | 0w | 498000 33000 | 465 1500
%90 - ] 560 76 | ome | s3000 | oo | 4300 | 4% 1580 ,
-1080_
580 w4 | oms | sero00 460000 | 509 1590
600 78 | o2 | 653000 509000 | 5% 1640
-1810_|
750 6 | 0410 | 1010000 78000 | 658 1690
-1960_| -1960_
( )| [0 6 | o410 | 100000 | 100 | 1010000 | 750 1920 700 185 | 0420 | 94000 | 100 | 924000 | 700 1890
3m
f} HERND
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Ss-2H

-2H Ss-2H
S s p
%5‘ (nY/SS) vt v 60 6/60 6 Vs Vo h( ) ((er; (m"/ss) vt v 60 6/60 G Vs Vo h( )
(k/m) (k/m2) Wwm) | s | ) (kN/mg) (kN/mo) Wwm) | s | )
130 00
45 % | 18 | o043 | 262000 | 085 | 223000 | %1 | 155 3 L = s | om [ | o8 | | wm | 5w ;
=30 S 450 165 | 0464 | 341000 200 | 405 1560
m | o | os | 33000 06000 | 40 | 15%
500 71| o045 | 436000 %000 | 40 | 1570
-130 |
800,
50 | 14 | om7 | 498000 36000 | 474 | 15%
990 080 3 560 w6 | o | 563000 | oo | 46000 | 54 | 1610 ;
-1080_
0 | 14 | o0m3 | 597000 mso0 | 519 | 160
600 78 | o4 | 653000 520000 | 50 | 1670
1810 |
7 | 16 | 04w | 1010000 88000 | 671 | 1720
1960 | -1960_
(Lo || ws | omo [10m00| 100 | 1010000 | 780 | 190 700 185 | o041 | o400 | 100 | %4000 | 700 | 18%
3m
) ®ERAH
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Ss-3H

-3H Ss-3H
S
%5‘ (nY/SS) vt v 60 6/60 6 Vs Vo h( ) ((er; (m"/ss) vt v 60 6/60 G Vs Vo h( )
(/m3) (/m2) wmy) | @) | o) (N/m3) (/m2) wmy) | @) | )
130 00
15 360 78 | o413 | 262000 | 086 | 25000 | 32 | 1560 3 L - T om Taw w Tee T = - ;
=306 S0 450 165 | o464 | 341,000 206000 | 38 1530
470 170 0.459 383,000 295,000 413 1500
500 171 0.455 436,000 340,000 442 1540
730 |
800 |
530 174 0.447 498,000 383,000 465 1500
990 o7 3 560 m6 | ows | S0 | o | 400 | 4 1580 ;
1080 |
560 w4 | oms | seo00 000 | 59 | 150
600 78 | oa2 | es3000 509000 | 530 1640
-1810 |
750 6 | o410 | 1010000 718000 | 658 | 1690
-1960 | -1960 |
U 776 | o040 | 10100 | 100 | 100000 | 750 | 1920 700 185 | o041 | o000 | 100 | 24000 | 700 1890
3m
f} BERND
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Ss-1H

Ss-1H Ss-1H
*1 *2 *3 *1 *2 *3

ke (Hz) Ce fi(Hz) ke (H2) Cc f1(Hz)
K1 8 2.96 x<10° 1.16 5.92 x<10° 2.46 K1 8 2.32 x<10° 1.11 4.75 ><10° 2.53
K2 8 1.92 =10° 0.01 1.14 ><10° 2.46 K2 8 1.44 ><10° 0.01 8.80 <10’ 2.53
K3 9 2.56 x<10° 1.16 5.12 x<10° 2.46 K3 9 2.32 =<10° 1.11 4.75 =<10° 2.53
K4 9 1.66 ><10° 0.01 9.89 <10 2.46 K4 9 1.44 =<10° 0.01 8.80 ><10° 2.53
K5 9 5.01 ><10’ 0.00 2.09 x<10° 2.46 K5 9 5.37 <10’ 0.00 2.07 =<10° 2.53
K6 9 3.70 x<10" 0.00 3.74 x=10° 2.46 K6 9 3.87 x<10%° 0.00 3.21 x<10° 2.53
*1  K1,K3,K5 kN/m K2,K4,K6 kN m/rad *1  K1,K3,K5 KkN/m K2,K4,K6 kN m/rad
*2  K1,K3,K5 kN s/m K2,K4,K6 kN s m/rad *2  K1,K3,K5 kN s/m K2,K4,K6 kN s m/rad
ST B! 1 3 f 1

Ss-1H Ss-1H
*1 *2 *3 1 2 3

Ke (Hz) Cc fi(Hz) Kc (Hz) Cc f1(Hz)
K1 8 2.96 x<10° 1.16 5.92 x=<10° 2.55 K1 8 2.32 =<10° 1.11 4.76 >=<10° 2.65
K2 8 1.92 =<10° 0.01 1.15 ><10° 2.55 K2 8 1.44 =<10° 0.01 8.91 >=10’ 2.65
K3 9 2.56 >10° 1.16 5.12 x<10° 2.55 K3 9 2.32 x<10° 1.11 4.76 >=<10° 2.65
K4 9 1.66 ><10° 0.01 9.99 =10’ 2.55 K4 9 1.44 x<10° 0.01 8.91 =10’ 2.65
K5 9 4.93 =107 0.00 2.02 ><10° 2.55 K5 9 5.27 <10’ 0.00 1.99 ><10° 2.65
K6 9 4.64 =<10'° 0.00 5.70 x=<10° 2.55 K6 9 5.16 >=<10" 0.00 5.51 x=<10° 2.65
*1  K1,K3,K5 KkN/m K2,K4,K6 KN m/rad *1  K1,K3,K5 kN/m K2,k4,K6 KN m/rad
*2  K1,K3,K5 kN s/m K2,K4,K6 kN s m/rad *2  K1,K3,K5 kN s/m K2,K4,k6 kN s n/rad
*3 fy 1 3 f 1
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Ss-2H

Ss-2H Ss-2H
*1 *2 *3 *1 *2 *3

Ke Hz) Cc f1(Hz) K (H2) Cc f1(Hz)
K1 8 3.06 =<10° 1.18 6.02 >=10° 2.49 K1 8 2.40 >=<10° 1.13 4.84 =<10° 2.56
K2 8 1.99 x=10° 0.01 1.16 x<10° 2.49 K2 8 1.49 x=10° 0.01 8.94 <10’ 2.56
K3 9 2.65 =<10° 1.18 5.21 >=10° 2.49 K3 9 2.40 >=<10° 1.13 4.84 ><10° 2.56
K4 9 1.72 =<10° 0.01 1.00 x<10° 2.49 K4 9 1.49 x=10° 0.01 8.94 <10’ 2.56
K5 9 5.18 =10’ 0.00 2.12 >=10° 2.49 K5 9 5.56 =10 0.00 2.10 >=<10° 2.56
K6 9 3.85 =10 0.00 3.81 x=10° 2.49 K6 9 4.02 =10 0.00 3.25 =<10° 2.56
*1  K1,K3,K5 kN/m K2,K4,K6 kN m/rad *1  K1,K3,K5 kN/m K2,k4,K6 kN m/rad
*2 K1,K3,K5 kN s/m K2,K4,K6 kN s m/rad *2  KL,K3,K5 kN s/m K2,K4,K6 kN s m/rad
ST 1 *3 1

Ss-2H Ss-2H
*1 *2 *3 *1 *2 *3

Ke (Hz) Cc f1(Hz) Kc (H2) Cc fi(Hz)
K1 8 3.06 ><10° 1.18 6.02 ><10° 2.59 K1 8 2.40 ><10° 1.13 4.84 ><10° 2.69
K2 8 1.99 x=10° 0.01 1.17 x=10° 2.59 K2 8 1.49 ><10° 0.01 9.06 <10’ 2.69
K3 9 2.65 ><10° 1.18 5.21 x=10° 2.59 K3 9 2.40 ><10° 1.13 4.84 x=<10° 2.69
K4 9 1.72 >=10° 0.01 1.02 x10° 2.59 K4 9 1.49 x=10° 0.01 9.06 =10’ 2.69
K5 9 5.10 <10’ 0.00 2.06 ><10° 2.59 K5 9 5.45 <10’ 0.00 2.02 =<10° 2.69
K6 9 4.83 <10 0.00 5.82 ><10° 2.59 K6 9 5.35 =<10" 0.00 5.60 ><10° 2.69
*1  K1,k3,K5 kN/m K2,K4,K6 KN m/rad *]1  K1,K3,K5 kN/m K2,k4,K6 kN m/rad
*2  K1,K3,K5 kN s/m K2,K4,K6 kN s m/rad *2  K1,K3,K5 kN s/m K2,K4,K6 kN s m/rad
*3 1 *3 f 1

) ®EmAH
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Ss-3H

Ss-3H Ss-3H
*1 *2 *3 *1 *2 *3

Ke (Hz) Cc f1(Hz) Ke (Hz) Cc f.(Hz)
K1 8 2.96 =<10° 1.16 5.92 x<10° 2.46 K1 8 2.32 ><10° 1.11 4.75 ><10° 2.53
K2 8 1.92 x<10° 0.01 1.14 x<10° 2.46 K2 8 1.44 x10° 0.01 8.80 <107 2.53
K3 9 2.56 ><10° 1.16 5.12 ><10° 2.46 K3 9 2.32 x=<10° 1.11 4.75 x=<10° 2.53
K4 9 1.66 ><10° 0.01 9.89 =10’ 2.46 K4 9 1.44 x<10° 0.01 8.80 =107 2.53
K5 9 5.01 =107 0.00 2.09 =<10° 2.46 K5 9 5.37 x<10’ 0.00 2.07 =10° 2.53
K6 9 3.70 =<10"° 0.00 3.74 ><10° 2.46 K6 9 3.87 ><10%° 0.00 3.21 =10° 2.53
*1  K1,K3,K5 KN/m K2,K4,K6 KN m/rad *1  K1,K3,K5 KN/m K2,K4,K6 kN m/rad
*2  K1,K3,K5 kN s/m K2,K4,K6 kN s m/rad *2  K1,K3,K5 kN s/m K2,k4,K6 kN s m/rad
3 f1 1 *3 1

Ss-3H Ss-3H
*1 2 *3 *1 *2 *3

Ke (Hz) Cc f,(Hz) ke (Hz) Ce fi(Hz)
K1 8 2.96 =10° 1.16 5.92 =10° 2.55 K1 8 2.32 =10° 1.1 4.76 ><10° 2.65
K2 8 1.92 x=<10° 0.01 1.15 =108 255 K2 8 1.44 >=10° 0.01 8.91 107 2.65
K3 9 2.56 x=10° 1.16 512 =10° 255 K3 9 2.32 =<10° 1.11 4.76 >=10° 2.65
K4 9 1.66 >10° 0.01 9.99 =107 2.55 K4 9 1.44 ><10° 0.01 8.91 107 2.65
K5 9 4.93 =10 0.00 2.02 =108 255 K5 9 5.27 =107 0.00 1.99 x=10° 2.65
K6 9 4.64 =10 0.00 570 =108 255 K6 9 5.16 <10 0.00 5.51 >10° 2.65
*1  K1,K3,K5 kN/m K2,K4,K6 kN m/rad *1  K1,K3,K5 kN/m K2,K4,K6 kN m/rad
*2  K1,K3,K5 kN s/m K2,K4,K6 kN s m/rad *2  K1,K3,K5 kN s/m K2,K4,K6 kN s m/rad
3 f 1 *3 1
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47.0n(NS  )><57.4n(BW )

WCkN) Au(n®) Ka><10®  kN/m WCkN) As(><107m%) 1) WCkN) Au(m®) Ka(><10°kN/m WCKN) As(><107m%) 1"y
1 14,893 1 - 12,026 1 -
55.3 1.73 11.35 0.9975 68.0 2.21 13.03 0.852
2 20,250 10 4,377 15,670 10 1,881
62.1 2.02 6.18 0.9975 74.9 2.44 11.56 0.852
3 63,170 11 2,150 74,990 1 3,172
284.1 9.58 203.3 9.89 5.96 0.852
4 83,300 88,070 12 1,811
2049 14.04 Ec 2.57=10"  kN/m? 3730 v
5 111,840 : g , 109,640 ‘ ; ,
385.2 12.07 1.07><10 KN/m' 431.7 13.53 c 2_57><1O7 kN/mz
6 141,010 v gu;ﬂzo 130,160 é'%x 107 K/
419.3 12.68 423.0 12.79 p v 5
7 227,110 226,760
675.5 14.16 £ 5 051l K/ 691.2 14.49
’ 0040 2,812.6 180.71 7.9010"  ki/n o 2,607.8 173.33 Es 2'05"103 kN/mz
9 135,000 v 0.30 127,000 7.90%10"  kN/n
2% v 0.30
h 2
1,103,550 1,092,200
Ko 2.31=10" kN m/rad
49.0m(NS )><57.4m(EW ) Ke 2.36><10" kN m/rad

?; MWW
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Ss-1V Ss-1V
* *1
Kc(kN/m) (Hz) Cc(kN s/m) f,(Hz) Kc (kN/m) (H2) Cc(kN s/m) f1(Hz)
K1 9 8.03><10’ 0.00 4.77><10° 4.19 K1 8.83><10" 0.00 4.77><10° 4.41
*1 f, *1 f
Ss-2V Ss-2V
- *1
Ke(kN/m) (Hz) Ce(kN s/m) f.(Hz) Ke (KN/m) (Hz) Cc(kN s/m) f1(HZ)
KL 9 8.32<10’ 0.00 4.8710° 4.26 K1 0. 16107 0.00 4 87 10° 4 49
*1 f, *1
Ss-3V Ss-3V
* *1
Kc(kN/m) (Hz) Cc(kN s/m) f,(Hz) Kc (kN/m) (Hz) Cc(kN s/m) fi1(Hz)
K1 9 8.0310’ 0.00 4.7710° 4.19 K1 8.83% 107 0.00 4.77%10° 4.41
*1 fl *1 T
s
¢) mEmNH




3000 I ‘ [T T \‘ ‘ I ‘ T T \‘ h:O\ 0\5
2500 Ss-1H(LF3) Ss-1H(LF5) g
Ss-2H(1F3) Ss-2H(1F5)
2000- Ss-3H(1F3) Ss-3H(1F5)
1500
(cm/s?)
500£j = QQ\&\E\\\
0 | | L1 | | L1 1 | |
0.02 0.05 0.1 0.2 0.5 1.0 2 5
(s)
2000 I T T T1TTT [ I T T T1TTT I [
Ss-1V(1F3) ss-1v(irs) | 0=0.05
Ss-2V(1F3) Ss-2V(1F5)
1500F Ss-3V(1F3) Ss-3V(1F5)
,. 1000 VAN
(cn/s?) WM\
500 %{% Qk
%
O | | L 1| | | [ | |
0.02 0.05 0.1 0.2 0.5 1.0 2 5

(s)

E HRERND
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E HRERND

3000 \‘ \\\\‘ ‘ T ‘\\\\‘ T T
Ss-1H(1F3) Ss-1H(1F5) h=0.05
2500 Ss-2H(1F3) Ss-2H(1F5)
2000" Ss-3H(1F3) Ss-3H(1F5)
1500 ‘
(cn/s?) j\
1000 N
500 o %&t\\\
0 | | I I | | T | |
0.02 0.05 0.1 0.2 0.5 1.0 2
(s)
3000 T T T [ [ T [ T T [ h T T
=0.05
L Ss-1H(1F3) Ss-1H(1F5) |
2500 Ss-2H(1F3) Ss-2H(1F5)
G j&\
1000 =
5003=ﬁ,§w¢f§a %\%\‘
\\\
O | | L1 11 | | L1 11 | |
0.02 0.05 0.1 0.2 0.5 1.0 2 5
(s)
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5000 1T T T TTT [ T T T TTT I I
Ss-1H(LF3) ss-1H(1rs) | =005
4000F Ss-2H(1F3) Ss-2H(1F5) +——
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3000
2
(€n/%) 2000
1000 f ‘
O | | I
0.02 0.05 0.1 0.2 0.5 1.0 2 5
(s)
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Ss-1H(1F3) Ss-1H(1F5) h=0.05
4000r Ss-2H(1F3) Ss-2H(1F5)
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3000
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1000
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1000

500 A

1 I

0 1
0.02 0.05 0.1

0.2

22
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(cn/s?)

3000 T T T ‘ T T —
h=0.05

2500k Ss-1V(1F3) Ss-1V(1F5)

Ss-2V(1F3) Ss-2V(1F5)
2000- Ss-3V(1F3) Ss-3V(1F5)
1500 -
1000

500 ke N
0 | | L1 | | | %
0.02 0.05 0.1 0.2 0.5 1.0 2
(s)
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NS

Ss-1H Ss-1H
[©) (Hz) [©) (H2)
1 0.407 2.46 1.789 1 0.396 2.53 1.755
2 0.185 5.40 -1.005 2 0.177 5.64 -0.921
3 0.090 11.17 0.274 3 0.078 12.85 0.219
4 0.065 15.28 -0.021 4 0.060 16.59 -0.016
5 0.056 17.76 -0.065 5 0.051 19.73 -0.059
Ss-2H Ss-2H
[©) (Hz) ©) (H2)
1 0.401 2.49 1.794 1 0.390 2.56 1.759
2 0.183 5.47 -1.018 2 0.175 5.73 -0.932
3 0.089 11.20 0.286 3 0.078 12.88 0.228
4 0.065 15.32 -0.021 4 0.060 16.63 -0.016
5 0.056 17.77 -0.067 5 0.051 19.74 -0.061
Ss-3H Ss-3H
® (Hz) ©) (H2)
1 0.407 2.46 1.789 1 0.396 2.53 1.755
2 0.185 5.40 -1.005 2 0.177 5.64 -0.921
3 0.090 11.17 0.274 3 0.078 12.85 0.219
4 0.065 15.28 -0.021 4 0.060 16.59 -0.016
5 0.056 17.76 -0.065 5 0.051 19.73 -0.059
%0
L)
) ===
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Ss-1H Ss-1H

(s) (Hz) (s) (Hz)
1 0.392 2.55 1.841 1 0.377 2.65 1.774
2 0.185 5.41 -1.137 2 0.175 5.72 -0.980
3 0.105 9.56 0.326 3 0.089 11.26 0.225
4 0.069 14.57 0.023 4 0.065 15.41 0.032
5 0.056 17.71 -0.063 5 0.050 19_87 -0.063
Ss-2H Ss-2H

(s) (Hz) (s) (Hz)
1 0.386 2.59 1.848 1 0.372 2.69 1.780
2 0.182 5.48 -1.159 2 0.172 5.80 -0.995
3 0.104 9.60 0.341 3 0.089 11.29 0.236
4 0.068 14.61 0.022 4 0.065 15.44 0.032
5 0.056 17.72 -0.065 5 0.050 19.87 -0.065
Ss-3H Ss-3H

(s) (Hz) (s) (Hz)
1 0.392 2.55 1.841 1 0.377 2.65 1.774
2 0.185 5.41 -1.137 2 0.175 5.72 -0.980
3 0.105 9.56 0.326 3 0.089 11.26 0.225
4 0.069 14 .57 0.023 4 0.065 15.41 0.032
5 0.056 17.71 -0.063 5 0.050 19.87 -0.063

%
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Ss-1V Ss-1V
(s) (Hz) S IS,
1 0.317 3.16 3.024 1 0.292 3.43 3.474
2 0.238 4.19 -2.104 2 0.227 4.41 -2.571
3 0.099 10.10 0.084 3 0.091 11.00 0.108
4 0.046 21.60 -0.110 4 0.045 22.39 -0.266
5 0.029 34.22 0.047 5 0.039 25.65 0.215
Ss-2V Ss-2V
(s) (H2) S )
1 0.317 3.16 2.902 1 0.292 3.43 3.308
2 0.235 4.26 -1.985 2 0.223 4.49 -2.410
3 0.099 10.10 0.087 3 0.091 11.00 0.113
4 0.046 21.61 -0.114 4 0.045 22.40 -0.277
5 0.029 34.22 0.048 5 0.039 25.65 0.224
Ss-3V Ss-3V
S
(s) (H2) O
1 0.317 3.16 3.024 1 0.292 3.43 3.474
2 0.238 4.19 -2.104 2 0.227 4.41 -2.571
3 0.099 10.10 0.084 3 0.091 11.00 0.108
4 0.046 21.60 -0.110 4 0.045 22.39 -0.266
5 0.029 34.22 0.047 5 0.039 25.65 0.215
%
¢) mEmNH
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Ss-1H —Ss-1H /<2
—---Ss-2H (cn/s?) - --Ss-2H (cn/s?)
________ Ss-3H s-1H| Ss-2H| Ss-3H - 5s-3H Ss-1H | Ss-2H | Ss-3H
O-P- (my 1125| 1081| 917 0-P-emy 1136 | 990 | 925

59.05 fo 55.72 7
l’ I - III//
I/ ,"/
Y 913| 884| 774 933| 866 | 798
I/ (]
50.82 ] ; 47.82 i
! /I/
4290 / 750| 765| 672 / 754 | 770 | 670
- i /,' 39.92 i /
i !
l, 1
i 674| 720| 606 ; 675| 681| 597
= i/" o] o7| sss| | / 620 | 643 | 558
i1 H
l' ’I
29.90 :,/:- 26.90 /
an 1
! 569 | 611| 482 | 564 | 580 | 499
1] r
21.70 II|’I 18-70 :/
N H
| 517| 513| 442 i
13.20 | 020 E 509 | 514| 431
h .-’
! :
:I :;
; 452 406 404 | 449 440 393
06 444|  392| 394 - ! 437 | 427| 387
"0 500 1000 1500 2000 6065 500 1000 1500 2000
(cm/s?) (cn/s?)
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Ss-1H ——Ss-1H
----Ss-2H (cn/s?) ----Ss-2H (cm/s?)
-------- Ss-3H Se_1H | Ss—2H | Ss-3H " Ss-3H Ss-1H | Ss-2H | Ss-3H
0.P. (m 1125 | 1088 978 0-P-(my 1112 1013 904
59.05 77 55.72 I
/ i
! /ol
i 921 | 874 | 750 /) 903 | 858| 756
50.82 i 47.82 N
! / I,’/
745 | 759 | 629 { 767| 747|643
42.92 ol 39.92 i
i /’
i 654 | 702 | 567 1y 664 | 692| 572
35.30 i 32.30 i
; /; 615 | 667 | 523 i 604 | 658 527
29.90 o 26.90 i
]
[ b !
i 552 | 596 | 457 i 546 | 596 | 463
21.70 i 18.70 i
v H
i !
[ 493 | 507 | 427 il 489 | 520| 409
13.20 ! 10.20 !
! 1
! 452 | 419 | 396 441| 429| 387
0.94[ a4 | a1 | 389 | | 208 437| 414| 384
3-065 500 1000 1500 2000 6-065 500 1000 1500 2000
(cm/s?) (cm/s?)
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NS

—Ss-1H Ss-1H
"7 Ss-2H ----Ss-2H
-------- Ss-3H =< 103(kN ----S5-3H ><103(kN)
0.P. m Ss-1H | Ss-2H | Ss-3H O'P'(m) Ss-1H | Ss-2H | Ss-3H
59.05 55.72
24.30| 23.67| 19.56 21.63| 19.22| 17.51
50.82 47.82
42.62| 41.92| 35.41 36.22 | 33.05| 30.04
42.9217 39.92 [
i 88.17| 88.77| 78.11 i 91.94| 91.35| 81.06
35.30[ 32.30 —
i 142.48| 143.26 | 129.03 147.51 | 151.61 | 134.14
29.90 il 26.90 .
: 209.45 | 219.23] 191.73 I 214.24 | 218.40 | 194.48
] Il
21.70 T 18.70 T
V! |
! 289.46 | 306.86 | 260.06 A 288.10 | 294.73 | 257.71
| EI
13.20 - | 10.20 S
i | i |
Lol 407.95 | 425.09 | 351.40 ; E 401.96 | 412.71 | 355.48
Pl At
L |
0.94 ! L T _2 06 L I T
3,06 ! 491.72| 501.65| 419.21 - ! 497.11 | 509.66 | 410.55
' 200 400 600 -6.06 200 400 600
><103(kN) ><10% (kN)
¢) mm=mh
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EW

Ss-1H —Ss-1H
-~ --Ss-2H ---Ss-
-------- Ss-3H = 10°CkN ) > 10°(kN)
0-Pim Ss-1H | Ss-2H | Ss-3H 0-P- iy Ss-1H | Ss-2H | Ss-3H
59.05
55.72
24.33| 23.82| 20.88 21.13| 19.68| 17.02
50.82 47.82 |
42.53| 41.10| 35.50 | 35.15| 33.46| 28.59
42.92 EI 39-92 !
i 89.11| 84.96| 74.50 91.30| 88.88| 77.51
35-30 ! 32.30 i
139.36| 142.38| 121.90 : 150.18 | 148.00| 128.03
29.90 - .
i 26.90 ;
i 203.37| 217.20| 181.15 | 216.04 | 218.80| 186.20
21.70 1 - ?
iy 18.70 :
[ |
'l 282.49| 302.79| 246.87 | 281.34| 295.77 | 247.06
13.20 Pl !
: 10.20 bl
. Pl
i 395.93| 419.56| 337.04 i 387.80| 413.62| 337.77
\ |
0.94 - |
_3.06 : 482.92| 498.14| 398.97 -2.06 i 486.32 | 513.02 | 394 68
><10%(kN)
><103(kN)
e
) mEmmh
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NS

Ss-1H Ss-1H
----Ss-2H 77 Ss-2M 6
-------- Ss-3H > 105(kN m) ~--Ss-3H ><10°(kN_ m)
0.P. Ss-1H | Ss-2H | Ss-3H 0-P-(m) Ss-1H | Ss-2H | Ss-3H
59.05 "
- 0.11 0.08 0.06 55.72 0.08 0.06 0.05
0.28 0.28 0.22 0.25 0.20 0.19
50.82 0.37] 0.35| 0.28] | 47-8 0.31| 0.25| 0.23
0.68| 0.68| 0.54 0.59 | 0.51| 0.46
42.927% 0.91] o0.88] o0.70| | 39-92 0.86 | 0.70| 0.65
": 1.53| 1.55| 1.21 ) 1.53| 1.38] 1.19
35.30 % 1.82| 1.80] 1.40 32.30 \ 1.82 | 1.59| 1.40
29.90 2.50 255 2.02 i 2.57 2.39 2.01
' \ 2.87| 2.88| 2.18| | 26-90 \\ 2.90| 2.65| 2.23
01 70l 4.30| 4.51| 3.72 4.49 | 4.41| 3.74
. 4.77| 4.95| 3.89 18.70 4.85| 4.71| 3.90
\ \ \
13.20 6.73] 7.13] 6.07 6.92| 7.09| 6.08
. 7.18| 7.50| 6.33 10.20 7.46| 7.57| 6.35
11.81] 12.13] 10.62 \ 11.76 | 12.18 | 10.65
0.94 \ 11.38] 11.79] 10.24| | _p o \ 11.48 | 12.02 | 10.44
-3.06 AN 13.27] 13.58] 11.79 \ 13.43 | 13.75] 12.07
0 5 10 15 20 -6.06 10 15 20
><106(kN m) ><105 (kN m)
eon
¢) mEmNH
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EW

Ss-1H —Ss-1H
- - Ss-2H e
_______ oo at ><109(kN ) o <10° (KN _m)
0-P- (1 Ss-1H | Ss-2H | Ss-3H 0-P-(m) Ss-1H | Ss-2H | Ss-3H
59.05 0.07| 0.04] 0.03 55.72 0.04] 0.03] 0.03
o 0.25] 022 o] | . 0.21| 0.19] 0.16
' 0.31| 0.25| 0.24 ' 0.24) 0.21) 0.18
0.62| 0.57| 0.52 { 0.52] 0.47] 0.41
42.92 0.76| 0.65] o0.60 | 39-%2 0.65| 0.57| 0.51
! 1.37| 1.29] 1.12 1.32] 1.25] 1.05
35.30 [} el 1 a0 1221 | 32-30 \ 1.46| 1.35] 1.15
\ 2.21| 2.13| 1.80 N 2.22| 2.13| 1.81
29.90 ‘\II 2. 60 242 1.97 26.90 “.“ 2.51 2.35 1.96
1 70 4.04| 4.04| 3.4 4.13| 4.05| 3.47
1.7 R 4.49| 4.35] 3.58] | 18.70 | Y 4.42| 4.28] 3.63
\ 6.45| 6.64] 5.66 \ 6.64| 6.62| 5.71
13.20 6.96] 7.20] 6.02| | 10-20 \ 7.21] 7.13] 6.08
\ \\\
N 11.32| 12.09| 10.13 L\ 11.65| 11.88| 10.17
0.94 \ 11.24] 11.92| 10.00| | -2.06 AN 11.74| 11.93| 10.19
AN 13.02] 13.78| 11.50 W\ 13.37| 13.82| 11.74
-3.06 -6.06
0 5 10 15 20 0 5 10 15 20
><106(kN m) > 106 (kN m)
see
¢) ®mmmAh >




8.73

0.0 8.7 17.1 (m) 17.13 (m)
(cm/s?) (cm/s?)
Ss-1V | 477 1217 [1863] Ss-1V | 481 | 723 1353 [2224]
Ss-2V | 564 1166 [1630] Ss-2V | 526 | 783 1123 (1920l
Ss-3V | 416 1036 [1481] Ss-3V | 432 | 627 1106 [1671]
PP
WEEh
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a (cn/s?)
Ss-1V (em/s” )
_____ Ss-2V -1V | Ss-2v | Ss-av Ss-1V | Ss-2V | Ss-3V
0.P.(m) Se-3V NN ICENCAR 0.P.(m)
59.05 — S- 477 | 564 | 416 | 55 72 481 526 432
L .
o 1
e ; _ 462 504 423
821 ol g b 449 | 504 | 411 | | e
>0-82 K | ' 47.82
o
42.92 F oo ST 434 | 448 | 405 39.92 - oonnn 439 | 463 | 411
! 0
1 136 130 | 405 R N 434 439 407
35.30 f-oiiiiion i e ] 32.30 : -
! ‘ .
29.90 f-----ane-- e 134 | 473 | 404 | 26.90 - e-- O S 431 423 406
Iy ' ‘I
h ; |
2170 beemmmeee S 425 | 422 | 398 | 18,700 c-eeeees L _____________________________ 427 415 406
| | 5!
Iy ! i
: ! - 9 | aqc : 429 413 405
13.20 +------ oo :: --------------- pommsmemeees | 426 413 399 | 10.20[ " E‘I """"""" CTTTTT e
1 | ! !
1 1 ! :
| . ' :
0.941 | I ST o1 | 400 | 405 -2.06| ... N o 429 | 400 | 410
' ‘ 1 3 1
-3.06 il | \ 426 | 400 | 404 ~6.06 A ! 427 399 409
0 500 1000 1500 ] 500 1000 1500
(c/s?) (cn/s?)
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> 10*(kN) —— Ss-1V

_____ - ><10*(kN)
0.P.(m) Ss-1V | Ss-2V | Ss-3v || O.P.(m) -2y

59.05 S5-3V 5570 e Ss-3V Ss-1V | Ss-2V | Ss-3V

1.29 1.28 1.18

50.82 1.40 1.13 1.12

47.82

2.10 2.03 1.98
2.00 1.94 1.79

42.92 39.92

4.62 4.81 4.43
5.09 5.52 4.95

35.30 |- 32.30¢--

8.16 8.33 | 7.85 8.85 | 9.45 | 8.61

29.90 26.90 -

13.05 | 12.98 | 12.46

13.68 | 14.08 | 13.09
21.70

18.70

19.18 | 18.81 | 18.21
19.35 | 19.21 | 18.46

13.20 10.20

29.02 | 28.39 | 27.13

29.16 | 28.06 | 27.76

0.94 T 2.06 o ‘ j
-3.06 i Mo i 41.69 | 40.59 | 39.06 J| . i ! i 42.15 | 40.23 | 39.75
0 25 50 75 100 0 20 40 60 80
=10 (kN) ><10* (kN)
HHE
{} WERN
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NS NS
=107 (=107

Ss-1H Ss-2H Ss-3H Ss-1H Ss-2H Ss-3H
CRF 0.12 0.12 0.10 CRF 0.07 0.06 0.06
5F 0.14 0.14 0.12 5F 0.12 0.11 0.10
4F 0.05 0.05 0.04 AF 0.04 0.04 0.04
3F 0.09 0.09 0.08 2.0 3F 0.06 0.07 0.06 2.0
2F 0.10 0.10 0.09 2F 0.08 0.09 0.08
1F 0.15 0.16 0.13 1F 0.13 0.13 0.12
B1F 0.11 0.11 0.09 B1F 0.08 0.08 0.07

EW EW
=107 (<107

Ss-1H Ss-2H Ss-3H Ss-1H Ss-2H Ss-3H
CRF 0.16 0.16 0.14 CRF 0.09 0.09 0.08
5F 0.19 0.18 0.16 5F 0.12 0.11 0.09
AF 0.09 0.08 0.07 AF 0.08 0.08 0.07
3F 0.11 0.11 0.09 2.0 3F 0.09 0.09 0.08 2.0
2F 0.11 0.12 0.10 2F 0.10 0.10 0.09
1F 0.11 0.12 0.10 1F 0.12 0.12 0.10
B1F 0.11 0.11 0.09 B1F 0.08 0.09 0.07

HHE
¢) m=®mAH

36




NS NS
Ss-1 | Ss-2 | Ss-3 Ss-1 | Ss-2 [ Ss-3
(%) 79.7 78.1 87.5 (%) 74.6 72.7 82.0
EW EW
Ss-1 Ss-2 Ss-3 Ss-1 Ss-2 Ss-3
(%) 90.6 87.3 97.6 (%) 87.8 85.7 95.4
EW NS
NS
-y
Lt BERN
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MPa

5
0.123 39 | 222 0.124 36 | 222
0.05 90 | 255 0.05 199 | 255
24 | 231 33 | 208
0.151 0.157
86 | 300 85 | 300
29 | 202 29 | 202
0.061 0.061
42 | 185 42 | 185
0.218 197 | 364 0.129 268 | 363
0.156 356 | 417 0.216 183 | 417
13.8 | 40.0 14.8 | 40.0
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